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The Code No. and Set on the right side of the question paper should be written by
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o FUCGRTHE % SaRFT FF o e TE A T SagHEAEr & g Y frar Faw T
PIC
Except answer-book, no extra sheet will be given. Write to the point and do not strike
the written answer.
o GHHE STy U To FJeT-UH T Saed i@ U To & GHANFT JeT-TH YT 3T 8 H T
g oiit dious 7o & IR 9T b T @ AT T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o FYT F¥T & FUY 7 @ g7 98 Ghed &Y T [ J97-97 g9 q @&l 8, qer % ST 5
T F g 4 qar whwre T8 A aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 73
General Instructions :
(i) & FeT S &
All questions are compulsory.
(i) TeGTE JoT & qE [T g
Write the correct option in objective type questions.
(iii) T FoT F ofIANG [AHT T JTET 81
Internal choice has been provided in some questions.

(iv) FEF F97 & 7% IGH G790 TT &/

Marks of each question are indicated against it.
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gue —
SECTION - A
(s frm)
(PHYSICS)

1. frelt i ador qon feedl uaw Tl | SNF @ wied gRar ~15 9 21 U qer d|

G ® ’
(A) AT SFFaA
(B) A U9

(C) YT 3gqd, dF IaA
(D) TUOT IO, w6 STaad

A spherical mirror and a thin spherical lens have each a focal length of -15 cm.

The mirror and the lens are likely to be :

(A) both concave

(B) both convex

(C) the mirror is concave and the lens is convex

(D) the mirror is convex and the lens is concave

2. Fr=faied § & $iF-a1 9 faga aReg & faga af & Fefa 787 s ? 1
(A) I°R (B) IR?
(C) VI (D) V?/R
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Which of the following terms does not represent electrical power in a circuit ?

(A) I°R (B) IR?
(C) VI (D) V?/R
3. Rgd o)1 & SI 75 ............ Bl 1

The SI unit of electric current is ............. .

4. IR & T G4 A F I 8§ 7 1

Why does the sun appear reddish early in the morning ?

5. frffad o # & &9 ¥ ¢ i@ (A) o &ROT (R), 997 3 99 R T Suge fasew

F T HA G I AR 1

AtEE (A) : FH-FH aIRY & G| | oEu e # SREY O e AT 3, S9 HaE
% de gd i AR B B

R (R) : Il B Rl H AR WET & HROT A ol & AR S [ 9 @
X Bl B

(A) (A) T (R) I 99 & T (R), (A) ¥ T& = B
(B) (A) T (R) & & &, WY (R), (A) B Tel AT el ol

(C) (A) T 8, WY (R) THH &l

(D) (A) 78E &, W (R) T 2l
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The question below consists of two statements : Assertion (A) and Reason (R),

answer the question by selecting the appropriate option given below :

Assertion (A) : A rainbow is sometimes seen in the sky in rainy season only

when observer's back is towards the sun.

Reason (R) : Internal reflection in the water droplets cause dispersion and

the final rays are in backward direction.
(A) Both (A) and (R) are true and (R) is the correct explanation of (4).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

6. faRaa & TR IR ¢ 1+1=2
(@) SIS BT HhION

(b) IIHSA STI
Define the following :
(@) Scattering of light

(b) Atmospheric refraction

7. faga o & dgett & Pl 7 o9 wHAE SR & & SuENT b e S © ? 2

Why is the tungston used almost exclusively for filament of electric lamps ?
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gar

OR

ST Bis fag BieX fOEgd A @ 4 A REgd 4R Al 5, 99 SE@ cial & ag [Qwait 60 V
Bl 39 99 faga &ieX el fgd arr A, ST RvEioR & 120 VO 991 far St

The potential difference between the terminals of an electric heater is 60 V,
when it draws a current of 4 A from the source. What current will the heater

draw if the potential difference is increased to 120 V ?

8. Uiy A B ? 39 SI HESh Saisy fREl = B U 6 SRl W MR sar 2 7 3

What is resistance ? State its SI unit. On which factors does the resistance of a

conductor depends ?

9. (a) el g & 7 Red fOE@ aRER 9@ W ARG a0 F9 AfeHT et & 7 1

When is the force experienced by a current carrying conductor placed in a

magnetic field largest ?
(b) & b & W TH-GER HI ASE FJ AE Bl ? 2
Why don't two magnetic lines of force intersect each other ?
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e

OR
TEIH TR & F1 &M@ & ! 9 B ARl gl Qg AeEl B qHIhd AT F - AT
g7 3

What is the function of an earthwire ? Why is it necessary to earth metallic

appliances ?

10. (a) YIS &1 ST9GGH a1 & 7 ST9da & o R 3
What is refraction of light ? Write down the laws of refraction.
(b) B9 areql § U T B WY § HN-9 U H SYGNT B & AR HJf ? 2

Which mirror do we use as rear-view mirror in vehicles and why ?

ST
OR
(2) Pl Staqw oF ® BeE g 15 AW o 6 & d@ @ o g0 W W [ @ g}
fg 1 @ @ 10 |9 g W gfalsy &9 ? 3

A concave lens has focal length of 15 cm. At what distance should the
object from the lens be placed so that it forms an image at 10 cm from the

lens ?
(b) 3Uor g faraw 1

Write the mirror formula.
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() 39 YU HT I ST S 4 H1 Hew qn SMad utey a9 T 7

Name a mirror that can give an erect and enlarged image of an object.
qig - §
SECTION - B
(v fs)
(CHEMISTRY)

11. 7= § 9§ fras faaas &1 S da ) a%d d & Y fe o @ ?
() WiETH FRFIFES
(B) Hicwa TEgglrIEe
(C) AFREY sEgEs
(D) Wi a4t

Which of the following solutions was used to white wash walls ?
(A) Sodium hydroxide

(B) Calcium hydroxide

(C) Magnesium hydroxide

(D) All of the above
12. CaOCl, % Saferd A9 &1 § 7
(a)  foreem (B) foter 7ot

(C) afeT A= (D) g Qel
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What is common name of CaOCl, ?
(A) Gypsum

(B) Bleaching Powder

(C) Baking Soda

(D) Washing Soda

13, o, T o1 8, N HAX & A9 9T &G B o 1

............ is a metal, which is a liquid at room temperature.

14. TEE AR HB TS =T F91 BT § 7 1

Why do ionic compounds have high melting points ?

15. Frfoiad gs7 & & HoF € : I (A) 3T HROT (R), 999 & -9 R T Suge e
H T BT gL IAL AT 1

AR (A) :  The R FRES G B VA F T B A B

HR (R) : T & TR H IURAT F RieaR FRES & T9Hed Rice] 81y X e
TN & R e

(A) (A) T (R) I 99 § @1 (R), (A) & T& e B

(B) (A)T (R) 3F & 8, T (R), (A) B &I AR T Bl

(C) (A) T 8, W (R) THH &l

(D) (A) 3TFA &, W (R) T &l
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17.

18.
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The question below consists of two statements : Assertion (A) and Reason (R),

answer the question by selecting the appropriate option given below :
Assertion (A) : White silver chloride turns grey in sunlight.

Reason (R) : Decomposition of silver chloride in presence of sunlight takes

place to form silver metal and chlorine gas.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

foreemae atffsha @m & 7 T SareY iRt 2

What is displacement reaction ? Give an example.

ST %l TgUREfd # o H FAeR ITNg F| TE e © 2

Why do acids not show acidic behaviour in the absence of water ?

A% I A @ 'A' 9 'B' ¥ 9999 'A' 3 pH # AM 6 ® T R 'B' & pH & 9N 8
B g e & eEgo o I FiEdr Sf¥e 3 ? 390 d i oTRig § T BN aReE ¢ 3

You have two solutions 'A' and 'B'. The pH of solutions 'A' is 6 and pH of solution
'B' is 8. Which solution has more hydrogen ion concentration ? Which of this is

acidic and which one is basic ?
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19. TEENS JOrEdl & AER W grgel U Aegget § fase S 3

Differentiate between metals and non-metals on the basis of chemical

properties.
YqT
OR
Syl offFTgs w1 B & ¢ @ IWgeHl SffeEsl H Jaelel A 3

What are amphoteric oxides ? Give two examples of amphoteric oxides.

20. (a) U § UdHEd ord # uRaqd ot offeieeer offulear @t ®eq & ? orfufem of
[NiEl 3

Why is the conversion of ethanol to ethanoic acid is an oxidation reaction ?

Write the reaction also.

(b) FHEE Aot w R ? SEEI & WY GHEEY 2
What is an homologous series ? Explain with an example.
AYAT
OR
() TR fvg TR SR 1x3=3
() wSHiEh =
(i) H,S
(iii) SO
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Draw the electron dot structures for :
(i) Ethanoic acid
(i) H,S
(iii Propanone
(b) FE Td 6@ ANTH H UM AYBI FART H 369 & &9 § I a1 ol & ? 2

Why are carbon and its compounds used as fuels for most applications ?

grs - 9
SECTION-C
(cftr o)
(LIFE SCIENCE)

21. 7791 & § 39 STBR 4@ H 07 #d & 7 1
(A) =, I T T
(B) €, ¥R OUT AN
(C) «®d, T qar et
(D) 91, Wedl T S

Which of the following constitute a food chain ?

(A) Grass, Wheat and Mango
(B) Grass, Goat and Human
(C) Goat, Cow and Elephant

(D) Grass, Fish and Goat
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22. = ¥ ¥ B9 g9 & X I I & 9T B 7 1

(A) S

(B) THIIA

(C) et

(D) fEsmantet

Which of the following is a part of male reproductive system in human beings ?
(A) Ovary

(B) Uterus

(C) Vas deferens

(D) Fallopean tube

23. qgHS H NN WA & &9 F G F ..o H g ol 1
The main reason for the loss of ozone layer in atmosphere is the increase
N cooveenenne. .

24. HFMg 7 fdg U SR AR & deawer & ol @ o § 7 1

What is essential for the synthesis of thyroxine by the thyroid gland in human ?
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25. frafied g9 & @ FoF § : IR (A) S HROT (R), 999 & -9 R T Suge e
T HQ GU I AT 1

AREE (A) @ TR STie afkameT @ O & & d ol @ STaeashal erl ol
R (R) : A § Fofl il & w7 § g B B

(A) (A) T (R) I 97 & T (R), (A) H T& 2= B

(B) (A) T (R) & ¥ &, T (R), (A) B Tel AT el

(C) (A) T 8, WY (R) THA &l

(D) (A) 7EF &, W (R) T Bl

The question below consists of two statements : Assertion (A) and Reason (R),

answer the question by selecting the appropriate option given below :
Assertion (A) : Energy is required to carry out different life processes.
Reason (R) : Energy is obtained in the form of ATP in the mitochondria.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.
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27.

28.

29.

(15) 1106/(Set : A)
T UIeY 8N H AW gqd, S 2

(a) PR fawom 1 ARG Hear &

(b) 3hE F HIAT BIAT ©

Name such plant hormone, which :
(a) induces cell division

(b) inhibits growth

g F guer & 1 HE © 7 2

What are the functions performed by the testis in human beings ?

g9 H A BT H AHIR &5 T 3

Draw a labelled diagram of longitudinal section of a flower.

Hed & ST @ HA G = % AR der @ds ®9 9 dargTd e 8 7 3
How do Mendel's experiments show that traits are inherited independently ?
YT
OR
aFa | S=3 & fA fEiRer 9 2§ ? 3

How is the sex of the child determined in human beings ?
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30. (a) AN AT YEREF 99T & 99 7 SiaX fafagy 3

Write three differences between aerobic and anaerobic respiration in

human beings.
(b) IS & UM § AR & FT YRR B 7 2
What is the role of saliva in the digestion of food ?
AYAT
OR

(a) ¥MT UREH G H AMihd RE SR 3

Draw a well labelled diagram of human digestive system.
(b) O qyor B o oavHE Rt H-d 2 7 2

What are the necessary conditions for autotrophic nutrition ?
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